
Table 13: South-eastern Asia

Var X Var Y R∗
n(X, Y ) p-value Conditional set

1 2 0.0 0.48555 (’8’, ’11’, ’13’, ’14’, ’16’, ’17’)
1 3 0.0 0.47505 (’5’, ’7’, ’9’, ’10’, ’12’, ’13’, ’15’, ’16’)
1 4 0.07931 0.28047 (’5’, ’8’, ’9’, ’16’)
1 5 0.20313 0.09639 (’2’, ’4’, ’7’, ’16’)
1 6 0.0 0.44806 (’2’, ’3’, ’7’, ’9’, ’11’, ’13’, ’14’, ’16’, ’17’)
1 7 0.0 0.47775 (’8’, ’9’, ’13’, ’14’, ’15’, ’16’, ’17’)
1 8 0.10015 0.24558 (’2’, ’4’, ’5’, ’6’, ’7’, ’13’, ’16’, ’17’)
1 9 0.01049 0.44986 (’5’, ’10’, ’16’, ’T’)
1 10 0.0 0.45605 (’2’, ’5’, ’6’, ’7’, ’9’, ’13’, ’17’, ’T’)
1 11 0.0 0.50005 (’3’, ’10’, ’14’, ’T’)
1 12 0.0 0.47595 (’2’, ’4’, ’5’, ’10’, ’13’, ’16’)
1 13 0.0 0.46395 (’2’, ’4’, ’5’, ’9’, ’12’, ’16’)
1 14 0.14139 0.83282 (’5’, ’6’, ’8’, ’9’, ’10’, ’13’, ’15’, ’T’)
1 15 0.0 0.44816 (’5’, ’7’, ’11’, ’12’, ’17’, ’T’)
1 16 0.10198 0.24108 (’2’, ’4’, ’5’, ’10’, ’11’, ’15’)
1 17 0.05736 0.33407 (’2’, ’5’, ’8’, ’9’, ’10’, ’11’, ’13’, ’15’, ’16’, ’T’)
1 T 0.0 0.45355 (’4’, ’5’, ’7’, ’10’, ’16’)
2 3 0.0922 0.72853 (’5’, ’14’, ’16’)
2 4 0.0 0.49575 (’1’, ’3’, ’5’, ’7’, ’8’, ’9’, ’10’, ’12’, ’13’, ’15’)
2 5 0.01517 0.44836 (’1’, ’6’, ’16’, ’T’)
2 6 0.17196 0.13319 (’5’, ’8’, ’12’, ’14’, ’16’, ’T’)
2 7 0.0 0.47475 (’1’, ’5’, ’6’, ’9’, ’10’, ’17’, ’T’)
2 8 0.03493 0.40496 (’5’, ’6’, ’11’, ’17’)
2 9 0.0 0.49485 (’1’, ’3’, ’4’, ’5’, ’11’, ’12’, ’13’, ’15’, ’16’)
2 10 0.12606 0.79432 (’5’, ’6’, ’11’, ’14’, ’15’, ’16’)
2 11 0.0 0.49575 (’5’, ’14’, ’16’, ’17’, ’T’)
2 12 0.0 0.48545 (’1’, ’6’, ’13’, ’15’, ’16’)
2 13 0.09061 0.71593 (’1’, ’4’, ’5’, ’6’, ’9’, ’11’, ’12’, ’14’, ’15’, ’16’, ’T’)
2 14 0.08989 0.27577 (’5’, ’7’, ’11’, ’12’, ’16’, ’17’)
2 15 0.0 0.49295 (’4’, ’11’, ’12’, ’17’)
2 16 0.04231 0.38956 (’1’, ’6’, ’11’, ’14’, ’15’, ’T’)
2 17 0.08068 0.29687 (’1’, ’5’, ’8’, ’9’, ’11’, ’12’, ’14’, ’16’, ’T’)
2 T 0.0 0.49665 (’3’, ’5’, ’6’, ’8’, ’9’, ’11’, ’14’, ’15’, ’17’)
3 4 0.12751 0.19638 (’5’, ’8’, ’11’, ’16’, ’T’)
3 5 0.0 0.48375 (’1’, ’4’, ’7’, ’10’, ’14’, ’16’, ’T’)
3 6 0.15726 0.15748 (’5’, ’7’, ’8’, ’12’, ’13’, ’T’)
3 7 0.07849 0.29647 (’4’, ’5’, ’6’, ’8’, ’9’, ’10’, ’11’, ’12’, ’14’, ’16’, ’T’)
3 8 0.19334 0.10909 (’1’, ’4’, ’6’, ’7’, ’11’, ’T’)
3 9 0.03924 0.59004 (’1’, ’10’, ’14’, ’16’)
3 10 0.0 0.44576 (’2’, ’9’, ’16’)
3 11 0.08883 0.27227 (’4’, ’7’, ’8’, ’13’, ’14’, ’16’, ’17’, ’T’)
3 12 0.0 0.47345 (’10’, ’11’, ’13’, ’14’, ’15’, ’16’, ’T’)
3 13 0.0 0.47805 (’2’, ’4’, ’5’, ’8’, ’9’, ’10’, ’11’, ’14’, ’16’)
3 14 0.03768 0.58694 (’1’, ’6’, ’8’, ’10’, ’13’, ’T’)
3 15 0.0 0.45955 (’5’, ’6’, ’11’, ’13’, ’16’)
3 16 0.01183 0.52475 (’1’, ’2’, ’13’, ’14’, ’15’)
3 17 0.0 0.49805 (’1’, ’2’, ’7’, ’8’, ’11’, ’12’, ’13’, ’16’, ’T’)
3 T 0.18308 0.11369 (’1’, ’4’, ’6’, ’7’, ’11’, ’17’)
4 5 0.04416 0.37246 (’1’,)
4 6 0.0 0.46535 (’2’, ’8’, ’11’, ’17’)
4 7 0.0 0.49295 (’2’, ’3’, ’5’, ’6’, ’9’, ’10’, ’11’, ’13’, ’15’, ’T’)
4 8 0.30746 0.0275 (’3’, ’5’, ’6’, ’17’, ’T’)
4 9 0.0 0.47225 (’2’, ’6’, ’10’, ’11’, ’16’, ’17’, ’T’)
4 10 0.0 0.45795 (’2’, ’3’, ’5’, ’6’, ’14’, ’15’, ’16’, ’T’)
4 11 0.0 0.48305 (’1’, ’3’, ’6’, ’7’, ’8’, ’9’, ’13’, ’14’, ’16’, ’17’, ’T’)
4 12 0.0 0.47505 (’5’, ’13’, ’14’, ’15’, ’T’)
4 13 0.20833 0.93071 (’1’, ’2’, ’3’, ’5’, ’9’, ’11’, ’12’, ’16’, ’T’)
4 14 0.0 0.46005 (’1’, ’2’, ’3’, ’5’, ’7’, ’8’, ’9’, ’10’, ’15’, ’16’, ’17’)
4 15 0.04219 0.58324 (’1’, ’3’, ’5’, ’9’, ’11’, ’13’, ’16’, ’T’)
4 16 0.0272 0.40786 (’1’, ’11’)
4 17 0.0 0.49095 (’2’, ’7’, ’8’, ’11’, ’14’, ’15’)
4 T 0.0 0.46625 (’1’, ’2’, ’3’, ’6’, ’8’, ’10’, ’12’, ’13’, ’14’, ’15’, ’16’, ’17’)
5 6 0.04506 0.36066 (’1’, ’2’)
5 7 0.0687 0.31267 (’1’, ’2’, ’6’, ’14’, ’T’)
5 8 0.0 0.47425 (’2’, ’3’, ’4’, ’6’, ’7’, ’14’, ’15’)
5 9 0.12649 0.78712 (’10’,)
5 10 0.05394 0.61084 (’9’, ’11’, ’T’)
5 11 0.0251 0.55234 (’9’, ’12’, ’13’, ’14’, ’16’, ’17’, ’T’)
5 12 0.01342 0.52345 (’9’, ’11’, ’15’, ’16’, ’T’)
5 13 0.0 0.47315 (’1’, ’2’, ’4’, ’6’, ’11’, ’12’, ’14’)
5 14 0.0 0.47505 (’6’, ’9’, ’10’, ’13’, ’T’)
5 15 0.0 0.46435 (’3’, ’7’, ’9’, ’11’, ’12’, ’13’, ’14’, ’17’, ’T’)
5 16 0.00447 0.50435 (’10’, ’11’, ’15’, ’T’)
5 17 0.0 0.49595 (’9’, ’10’, ’11’, ’13’, ’15’, ’16’, ’T’)
5 T 0.01183 0.50735 (’9’, ’11’, ’12’, ’16’, ’17’)
6 7 0.0 0.45435 (’1’, ’2’, ’3’, ’8’, ’9’, ’10’, ’13’, ’17’)
6 8 0.23768 0.06899 (’1’, ’2’, ’3’, ’5’, ’13’, ’T’)
6 9 0.0 0.46835 (’1’, ’2’, ’5’, ’7’, ’8’, ’11’, ’12’, ’15’, ’16’, ’T’)
6 10 0.0 0.43686 (’2’, ’5’, ’9’, ’12’, ’14’, ’16’, ’17’, ’T’)
6 11 0.0 0.47225 (’14’, ’17’)
6 12 0.05666 0.31667 (’2’, ’3’, ’7’, ’13’, ’15’, ’T’)
6 13 0.01095 0.40456 (’9’, ’11’, ’14’, ’15’, ’16’)
6 14 0.14863 0.85481 (’1’, ’3’, ’8’, ’9’, ’10’, ’13’, ’15’, ’T’)
6 15 0.0 0.42556 (’4’, ’5’, ’8’, ’10’, ’11’, ’12’, ’16’, ’17’)
6 16 0.0345 0.57964 (’3’, ’5’, ’9’, ’12’, ’13’)
6 17 0.0 0.49075 (’1’, ’2’, ’10’, ’11’, ’14’, ’16’)
6 T 0.0 0.45215 (’3’, ’8’, ’9’, ’11’, ’13’)
7 8 0.08361 0.27677 (’1’, ’2’, ’3’, ’5’, ’6’, ’10’, ’11’, ’14’, ’T’)
7 9 0.09072 0.26467 (’1’, ’10’, ’14’, ’T’)
7 10 0.09844 0.24128 (’5’, ’6’, ’9’, ’14’, ’17’)
7 11 0.0 0.48315 (’1’, ’3’, ’5’, ’9’, ’10’, ’13’, ’14’, ’15’, ’17’, ’T’)
7 12 0.04087 0.36646 (’2’, ’3’, ’9’, ’14’, ’15’, ’16’, ’T’)
7 13 0.0 0.44746 (’1’, ’2’, ’3’, ’4’, ’6’, ’8’, ’9’, ’12’, ’17’)
7 14 0.05244 0.33557 (’2’, ’5’, ’11’, ’12’, ’16’, ’17’)
7 15 0.0 0.43536 (’1’, ’6’, ’11’, ’13’)
7 16 0.0 0.47905 (’4’, ’6’, ’11’, ’12’, ’13’, ’14’, ’17’)
7 17 0.0 0.49735 (’5’, ’8’, ’9’, ’10’, ’14’, ’15’, ’T’)
7 T 0.0 0.46865 (’1’, ’2’, ’3’, ’9’, ’14’, ’15’)
8 9 0.0 0.46905 (’4’, ’5’, ’6’, ’12’, ’13’, ’14’, ’15’)
8 10 0.0 0.43576 (’1’, ’2’, ’7’, ’11’, ’13’, ’14’, ’15’, ’17’)
8 11 0.0 0.47875 (’3’, ’4’, ’5’, ’6’, ’7’, ’13’, ’15’, ’16’, ’17’, ’T’)
8 12 0.0 0.48195 (’4’, ’5’, ’10’, ’11’, ’13’, ’T’)
8 13 0.0 0.44226 (’1’, ’3’, ’5’, ’6’, ’10’, ’12’, ’14’, ’16’)
8 14 0.02168 0.51145 (’1’, ’3’, ’6’, ’10’, ’13’, ’T’)
8 15 0.0 0.43276 (’1’, ’2’, ’6’, ’7’, ’9’, ’10’, ’12’)
8 16 0.0 0.47685 (’2’, ’4’, ’7’, ’9’, ’11’, ’13’, ’T’)
8 17 0.08222 0.29207 (’1’, ’2’, ’4’, ’7’, ’10’, ’11’, ’13’, ’15’, ’T’)
8 T 0.0 0.47715 (’1’, ’2’, ’3’, ’4’, ’5’, ’6’, ’11’, ’13’, ’16’, ’17’)
9 10 0.42456 0.0111 (’7’, ’17’, ’T’)
9 11 0.0 0.48035 (’1’, ’3’, ’13’, ’14’, ’15’)
9 12 0.0 0.46755 (’1’, ’3’, ’5’, ’6’, ’10’, ’11’, ’13’, ’14’, ’15’, ’T’)
9 13 0.06473 0.64534 (’2’, ’4’, ’7’, ’10’, ’12’, ’T’)
9 14 0.0 0.45605 (’2’, ’5’, ’11’, ’13’, ’15’, ’16’)
9 15 0.15166 0.85561 (’1’, ’10’, ’13’, ’T’)
9 16 0.13217 0.80522 (’1’, ’2’, ’5’, ’11’, ’13’, ’15’)
9 17 0.0 0.49765 (’10’, ’11’)
9 T 0.0 0.46235 (’1’, ’2’, ’3’, ’7’, ’10’, ’11’, ’13’, ’14’, ’16’, ’17’)
10 11 0.0 0.45395 (’1’, ’2’, ’4’, ’6’, ’8’, ’9’, ’12’, ’13’, ’14’, ’17’, ’T’)
10 12 0.0 0.44466 (’2’, ’5’, ’13’, ’15’, ’16’, ’T’)
10 13 0.12482 0.17588 (’2’, ’4’, ’5’, ’12’, ’14’, ’15’, ’16’)
10 14 0.06841 0.63024 (’6’, ’9’, ’T’)
10 15 0.0 0.42916 (’1’, ’9’, ’11’, ’13’, ’T’)
10 16 0.0 0.46795 (’1’, ’5’, ’9’, ’T’)
10 17 0.27653 0.0436 (’1’, ’7’, ’9’, ’11’, ’16’, ’T’)
10 T 0.0 0.44046 (’2’, ’3’, ’4’, ’5’, ’7’, ’9’, ’13’, ’17’)
11 12 0.0 0.46755 (’3’, ’5’, ’6’, ’7’, ’9’, ’10’)
11 13 0.0 0.46675 (’3’, ’4’, ’6’, ’7’, ’10’, ’12’, ’16’, ’17’, ’T’)
11 14 0.18229 0.11839 (’2’, ’5’, ’7’, ’12’, ’16’, ’17’)
11 15 0.0 0.44616 (’1’, ’2’, ’3’, ’5’, ’7’, ’8’, ’9’, ’10’, ’12’, ’17’, ’T’)
11 16 0.27192 0.0468 (’1’, ’2’, ’4’, ’6’, ’14’, ’15’, ’17’, ’T’)
11 17 0.40501 0.003 (’1’, ’2’, ’3’, ’10’, ’14’, ’16’, ’T’)
11 T 0.32605 0.0185 (’2’, ’3’, ’16’, ’17’)
12 13 0.22797 0.9514 (’2’, ’15’, ’16’, ’T’)
12 14 0.0 0.45495 (’2’, ’7’, ’11’, ’15’, ’16’)
12 15 0.37182 0.0191 (’10’, ’13’)
12 16 0.0 0.47935 (’1’, ’2’, ’4’, ’5’, ’6’, ’7’, ’15’, ’17’)
12 17 0.0 0.49025 (’1’, ’2’, ’3’, ’10’, ’11’, ’T’)
12 T 0.0 0.46475 (’2’, ’4’, ’5’, ’7’, ’8’, ’13’, ’15’, ’17’)
13 14 0.0 0.42976 (’2’, ’3’, ’7’, ’9’, ’11’, ’12’, ’15’, ’17’)
13 15 0.02 0.51445 (’12’, ’16’)
13 16 0.0 0.47455 (’2’, ’4’, ’11’, ’12’, ’14’, ’15’, ’T’)
13 17 0.0 0.49095 (’2’, ’10’, ’16’, ’T’)
13 T 0.0 0.45095 (’1’, ’2’, ’3’, ’4’, ’5’, ’9’, ’11’, ’12’, ’15’, ’16’)
14 15 0.0 0.40686 (’1’, ’3’, ’5’, ’6’, ’11’, ’12’, ’16’, ’T’)
14 16 0.0 0.47035 (’5’, ’11’)
14 17 0.0 0.46825 (’2’, ’11’)
14 T 0.10474 0.75422 (’1’, ’3’, ’6’, ’10’, ’11’, ’13’)
15 16 0.0795 0.27947 (’1’, ’2’, ’11’, ’12’)
15 17 0.01643 0.41786 (’1’, ’2’, ’11’, ’12’)
15 T 0.02608 0.51825 (’1’, ’3’, ’9’, ’10’, ’11’, ’13’)
16 17 0.0 0.47555 (’1’, ’2’, ’13’, ’14’, ’15’, ’T’)
16 T 0.0 0.47115 (’1’, ’2’, ’4’, ’5’, ’7’, ’10’, ’11’, ’15’, ’17’)
17 T 0.20367 0.09819 (’11’,)


